
Distributed by: 
Trick-Tools

80 Truman Road
Pella, IA 50219

Phone:1-877-VAN-SANT
E-mail: sales@trick-tools.com

Here at Trick Tools we believe that our customers deserve the best 
value in their tool and equipment purchases.  We are constantly at 
work searching out a variety of high quality, high performance tools 
to offer at the best prices possible. Our commitment to you is that 
we will not offer “cheap junk” anywhere on our website.  You, the 
customer, help us to evaluate our products constantly and as soon as 
an ongoing quality issue is uncovered we will correct it or discontinue 
that product immediately.  We hope to earn your continued trust.



FIGURE 1
OPTION WITH BASE PLATE

FIGURE 2
OPTION WITH ALUMINUM FEETREV A  1/28/2010

1

3

2

4

5

6

7

8

9

10
11

12

13

14

15

1617

19

18

20

21

22

FIGURE 1 - OPTION WITH BASE PLATE

ITEM 
NO. PART NUMBER DESCRIPTION QTY

1 2700-A008-12 Lower Frame 1
2 2700-023 Frame Base Plate 1
3 2700-A009-12 Upper Frame 1
4 2700-021 Center Clamp Block 1
5 2700-020 Clamp Block 1
6 2700-501 Pneumatic Hammer 1
7 HX-SHCS .375-16X3X1.5-N 3/8-16 x 3 4
8 HNUT .3775-16-D-N 3/8-16 Nylock Nut 4
9 2700-503 Air Regulator 1

10 2700-505 Air Fitting 1
11 2700-506 1/4"Air Hose, 8 ft 1
12 2700-510 Right Hand Rod End 1
13 2700-511 Left Hand Rod End 1
14 2700-019 Adjuster Lock 1
15 2700-006-12 Height Adjuster 1
16 HBOLT .5-13X1.75X1.25-N 1/2-13 x 1-3/4 3
17 HNUT .5-13-D-N 1/2-13 Nylock Nut 3
18 2700-508 Set Screw 5/16-18x1/2 1
19 Foot Pedal Assembly

     2700-027 Foot Plate 1
     2700-500 NTP Pipe Plug, 1/4" 2
     2700-504 Valve, Pedal, & Manifold 1
     2700-505 Air Fitting 1
     2700-507 Exhaust Muffler 2
     SHCS 1/4-28 x 1-1/4 1/4-28 x 1-1/4 2
     1/4" Flat Washer 1/4" Flat Washer 2

FIGURE 2 - OPTION WITH ALUMINUM FEET

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

20 2700-007-1 Bottom Mounting Block 2
21 2700-007-2 Top Mounting Block 2
22 HX-SHCS .25-20X1.125 1/4-20 x 1.125 4

Planishing Hammer 12"

A2700-A01-E
SHEET 1 OF 1SCALE: 1:12 WEIGHT: 34.626

REVDWG.  NO.

A
SIZE

TITLE:

5 2 1

10 Cooperative Way, Wright City, MO. 63390
(636)745-7757  Fax (636)745-2874


	Sheet 1
	Drawing View2
	Drawing View3


